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N.B. @ (1) Q.No.l'is compulsory. Attempt any three out of remaining five questions.
(2) Use of IS 1343:2012 is permitted in the examination.
(3) Assume suitable data if required and mention it clearly.
(4) Support answers and solutions with suitable sketches.

I.  All questions are compulsory : on
(A) Explain the various factors affecting the deflection of precj
concrete beam.
(B) Enlist and explain various losses in prestressed concreie®™ o
(C) Why there is need of high tensile steel and high str %ﬂe for the
prestressed concrete structures?

(D) What arc the various failure modes ofprestresQ nt under flexure”
®

2. (A) A prestressed concrete beam of section 12 1d&”and 300 mm deep is 08
used over an effective span of 6m to sup iformly distributed load of
4kN/m which includes the self weight . The beam is prestressed by

a straight cable carrying a force of | ated at eccentricity of 50 mm.
Determine the location of the thim n the beam and plot its position at

quarter and clenn‘alspanseut{ o

ize 220 mm x 460 mm is prestressed with 12
a constant eccentricity of 50 mm and carrying
, the span of beam is 10m. Calculate the percentage

(B) A prestressed concrete
wires (area 300 mm;,
an initial stress of
loss of stress in Wires. 4 :

oBeatn 1$pretensioned, (ii) The beam is post tensioned.

swing data : E =210 kN/mnm* and E_= 35kN/mm?’, relaxation of

59 of initial stress, shrinkage of concrete = 300x x 10° for

ing and 200 x 10 for post-tensioning, Creep co-efficient = 1.6, slip

|
oy s E prage = 1 mm, co-efficientof friction = 0.25, co-efficient for wave effect
- 15/m.

stee
C

:'-,' % A pre tensioned T-Section has a flange width 1200 mm and thickness 150 mm. 08
E The width and depth of the rib are 300 mm and 1500 mm respectively. The high

=2 e tensile steel has an area of 4700 mm? is located at an effective depth of 1600

< mnm. If the characteristic cube strength of the concrete and the tensile strength
= of steel are 50 N/mm? and 1600 N/mm? respectively, Calculate the ultimate
' flexural strength of the T-Seetion. e










